


Lisa multiplies two different numbers. Complete the grid . “ :

and then give the answer.

Jake keeps rabbits and geese. His animals have 40 heads and 88 feet between
them. How many rabbits and geese does Jake have?

I'm thinking of two consecutive numbers. They multiply together to make 3080.
What are they?

Large loaves cost 80p. Small loaves cost 50p. It costs an extra 10p to have a

large loaf sliced, and an extra 5p to have a small loaf sliced. If | spent £5.20 on
bread, what could | have bought?

Give the best approximation to work out 4.4 x 18.6 and explain why. Roughly, what
answer do you expect to get? How did you arrive at that estimate? Do you expect your
answer to be greater or less than your estimate? Why?
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